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GENERAL STUDIES

[ Time Allowed : 2 Hours J. I Maximum Marks : 150 
Read the following inst ti . h t· rue ons carefully before you begm to answer t e ques 10ns.

IMPORTANT INSTRUCTIONS

1. This Question Booklet contains 150 t' . 11 ques 10ns ma . 
2. All questions carry equal marks. 
3. Immediately after commencement of the examination you should check up your Question

Booklet and ensure that the Question Booklet Series is' printed on the top right-hand corner
of the Booklet. Please check that the Booklet contains 48 printed pages including rn:0 pages

age Nos. 

the space provided on of your Answer Sheet If 
correct series of your Question Booklet, your Aaswer Sheet will not be evaluated correctly. 
Questions and their responses are printed in English and Hindi versions in this Booklet. Each 
question comprises of five responses-{A), (B), (C), (D) and (E). You are to select ONLY ONE 
correct response and mark it in your Answer Sheet. Your total marks will depend on the number of
correct responses marked by you in the Answer Sheet. 

9. In the Answer Sheet, there are five circles-{A), (B), (C), (D) and (E) against each question. To
answer the questions you a�e to mark with Black/Blue ink ballpoint pc� ONLY ONE. c�rcle of 
your choice for each question. Select only <?ne response for e�ch question and mark 1t m your 
Answer Sheet. If you mark more than one circle for one question, the answer will be treated as 
wrong. Use Black/Blue ink ballpoint pen only to �ark the answer in the Answer Sheet. Any 
erasure or change is not allowed. 

10. For each question for which a wrong �nsw
d
er/m

th
ore than �me a_n

11
swer has been given by the 

candidates, one-fourth of the marks ass1gne to· at question w1 be deducted as penalty.
11 You should not remove or tear off any sheet from the Question Booklet. You are not allowed to

• take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination bas c�ncluded, you muSt hand 0".er yowr Answer Sheet to
the Invigilator. Thereafter, you are permi�ed to t�ke aw_ay the Question Booklet with you. 

12. Failure to comply with any of the �hove mSl_ruc�ions :V111 render you liable to such action or
penalty as the Commission may decide at their discretion. 
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10. A goalkeeper in a game of football pulls his
hands backwards after holding the ball shot
at the goal. This enables the goalkeeper to

jl() decrease the rate of change of 
momentum 

(B) exert large force on the ball

(C) increase the force exerted by the ball

(A) Cathode ray

(B) Beta ray

y> Alpha ray
!!moo 

(D) More than one of the above

(E) None of the above

12. Centripetal force is responsible to

(A) independent motion of the object in
space v

(B) keep the body moving along the circular
path✓

(C) fly the object along a straight line

A More than one of the above

(E) None of the above
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13. Which of the following energy changes
involves frictional force?

J,I'{) Kinetic energy to heat energy 

(B) Potential energy to sound energy

(C) Chemical energy to heat energy

(D) More than one of the above

(E) None of the above

14. A bus is moving along a straight path and
takes a sharp tum to the right side suddenly.
The passengers sitting in the bus will

(A) bent towards right side

(B) fall in the forward direction

-.JC) bent towards left side 

(D) More than one of the above

(E) None of the above

15. Before playing the orchestra in a musical
concert, a sitarist tries to adjust the tension
and pluck the string suitably. By doing so,
he/she is adjusting

JA) frequency of the sitar string with the 
frequency of other musical instruments 

(B) amplitude of sound

(C) intensity of sound

(D) More than one of the above

(E) None of the above
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on hands

(D) More than one of the above

(E) None of the above

charged particle emitted by a radiactive
11. Which among the following is a positively

element?
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37. Arrange the following words in logical and
meaningful order : 

1. Vice President 

2. President 

3. Speaker

4. Prime Minister 

5. Members of the Parliament

(A) 5, 1, 2, 3, 4

(B) 4, 2, 1, 3, 5

� 2, 1, 4, 3, 5 

(D) More than one of the above

(E) None of the above

38. Reshma donates one-fourth of her property
to a charity organization and divides the
remaining property equally among her three
children. The part of property each child
gets is

(A) half

✓i one-fourth

(C) two-thirds

(D) More than one of the above

(E) None of the above
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39. Which of the following statements is false?

� Every square is a rhombus. 

� Every square is a rectangle. 
• 

\ 
(C) Every rhombus is a parallelogram.

 than one of the above 

(E) None of the above

40. In a family of some persons, B says that R
is the daughter of my sister A, who is the
only daughter of T. Xis the child of T and Z,
who is the grandmother of H. K is the mother
of M, who is the only sister of H. X is
unmarried. If S is the spouse of A, how is K
related to S?

(B) Sister-in-law

(C) Wife of brother-in-law

(D) More than one of the above

(E) None of the above
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59. Match List-I with List-II :
List-I List-II 

a. Grey Revolution l. Onion production
b.

c.
d.

Pink Revolution 2. Tomato and meat
°II production

Silver Revolutiolf) 3. Production of eggs
Red Revolution 4. Fertilizers
(A) a b C d

I 4 2 3
�a b C d

4 1 3 2 

(C) a b C d
3 1 4 2

(D) More than one of the above
(E) None of the above

60. Which of the following Five-Year Plans was
focussed on Human Resource Development?
(A) Fifth
(B) First
(C) Third
(D) More than one of the above

$) None of the above
61._ Which of the following States of India

received the highest Foreign Direct
Invt:stment (FOi) equity flow during April
to September 2022?

._JA) Gujarat
(B) Kamataka
(C) Tripura
(D) More than one of the above
(E) None of the above

02/FH/CC/PT-2023/144-B

62. In which budget did the Finance Minister
announce the Liberalized Exchange Rate
Management System?
(A) Union Budget, 1993-1994

\(B) Union Budget, 1991-1992
(C) Union Budget, 1992-1993
(D) More than one of the above
 (E) None of the above
 

63 .. Which of the following were goals of
the Five-Year Plans?
1. Growth
2. Modernization
3. Self-reliance
4. LiteratureX
(A) 1, 2 and 4 only
(B) 1, 3 and 4 only
(C) 2, 3 and 4 only
(D) More than one of the above

�) None of the above

64. Which organization carries out the survey for
determining the poverty line?
(A) RBI

JB) NSSO
(C) NITI Aayog
(D) More than one of the above
(E) None of the above

65. The trade balance of India (merchandise and
services) for December 2022 (provisional) is

\):A) (-) 11 ·98 USD billion
(B) (-) 10·50 USO billion
(C) (+) 11 ·98 USO billion
(D) More than one of the above
(E) None of the above

20 [ Contd. 






















































